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The formula of rust is ) q.ﬂnﬁk(b’.ﬁ

Fe(OH); (D)  Fe(OH)3.nH,0 (C) FeyO3 (B)  Fey03.nH,0 (A)
The electrolyte used in electroplating of silver is
Cra(SO4); solution ¢ Cry(SO4); (B)  Silver Nitrate Solution /#uicta> (A)

H,S0, solutioh /& H,S0, (C)
§ o el LUE et

None-metals are generally soft but which one of the following is extremely hard

Diamond 143 (D) lodine ¢/3¢T (C) Phosphorus (%G (B) Graphite J{lgf (A)

CuSO, solution ¢ CuSO, (D)

Which one of the following is not di-atomic molecule ? s %ddzph.f WJUVU’G’-U‘:U'
HCI(D) O, (C) NH3 (B) H2' (A)

Which one of the following shell consists of three sub-shells ? 4.&'1&”2&-%,/&& Wf:.uﬁul
M-Shell (£ -M (D) L-Shell £ -L (C) N-Shell J2-N (B) O-Shell £ -0 (A)

Long form of periodic table is constructed on the basis of stk ..fjw..j‘frﬁbﬂ

Atomic mass Jb£® (C) Atomic number St (B) Mendieev Postulate Jr I il (A)
alency u""‘:(D)
4._8,:.4;;..,/‘5;,’6,‘4“! s L
Which of the following halogen has highest electronegativity ? %
lodine c[i[f (D) Bromine ¢&s¢(C) Chlorine c[ur (B) Fiuorine c{/ﬁ (A)
A2 It LN 3y

Sodium has electrons in its valence shell

¢ e btz At Syl SN (b

23 (D) 11 (C) 07| (B) 01 (A)
Dative covalent bond is also called’ c-u{wig.»b&i
Metallic bond %| Xl3ts (C) Covalent bond ﬁg.whf (B) lonic bond »(E¥T (A)
Co-ordinate covalent bond }Qwhsfb;':bff (D)
J. Charles presented his Charles's Law in f _l/gBu‘; IuJJyl'g’Lu'Lyz,_
1932 (D) 1913 (C) 1662 (B) 1787 (A)
0SS 100 Lfbrtsnnt ¢md SELL sy
The volume in cm3 of solute dissolved in 100 g of solution is
% viv (D) % vim (C) % miv (B % m/im (A)
Molarity is the number of Moles of solute dissolved in mb Sl L adrddr
100 g of solvent (Et/ 100 Lusdy (B) 1 kg of solution (LK LALH (A)
1 dm3 of solution (£ 1dm3 L¢3 (D)  1dm3of solvent (&1 dm? Lz (C)
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Q.No.2 Write short answers to any Five of the following 5§x2=10

Define diatomic molecules and give two examples @J&L@qﬂfd,&.r BIJIJ
What is the difference between an element and compound ? ¢ 4.0)&0!}5@511.»* 4
Differentiate between atomic number and mass number g(ﬂ)&}:ﬁd lal/.).f 1N
Define electronic configuration i.&ﬂu’iﬂuﬁf'gl r
Write down the electronic configuration of nitrogen and oxygen 8 )VJ;/'QIJ‘;F( Uigfapt]| o
Why size of atom increases from top to bottom in a group of periodic table ? ) q.bzu[dr—{:l'/'lrt’(twtd{ﬁw A
Define ionization energy and give its uﬁit é{ﬂ)‘&gﬁrb’lﬁdﬂd}!ﬁﬁﬂ 2
Write the trend of electro-negativity in period and group of the periodic table ﬁ'(ﬂ*‘ﬂslmﬂ’ub’d‘_t&}gl A
Q.No.3 Write short answers to any Five ofthe following 5x2=10 Loz ‘&c—tﬂd’(w) 3 A
Deflne covalent bond with one example gi’:.dw.yﬂfﬂw '
Howto détermine that the bond ig ionic or covalent on electronegativity base skl e STHSEL t'(gqufp],&&'[)p 20| v
What ls the relationship between electronegativity and polarity ? by q.ﬂ(}!&&al&lﬁ/ai [ of
| How surface area affects evaporation ? T 4_?:1)!;!/!{,)‘,)'2‘;?4@[(}4{ 4
Whﬁt is Boyle's law ? Write its mathematically equation Jabb»&l}&ﬂ ¢ 4.&@”’(4.}’7.1 )
Define supersaturated solution éu!ﬂ;;}‘ﬂuf;{ A
Define molar solution. How 1 M solution of NaOH is prepared ? s q..t'ly&ﬂ?b)\fv)’ 1M K NaOH i._w.};% 4
| § & o LN By tiis|- ZE AT it A
Deﬁne_concentrated solution. How concentrated solution is diluted

Q. No.4 Write short answers to any Five of the following 5x2=10

2 fe AL am e Llibs 4 /Ur

Define oxidation in terms of oxygen and give an example

@.}ang{.]yj{ﬂﬂy‘kxw 1

Define non‘ electrolytes and give an ekample &:Jﬁ..{uﬂé&ﬁu‘ﬂnfﬁut r
What is meant by galvanizing ? T q_;l/k(‘..{'/’bl! r
Define electrochemical cell ﬁ.&ﬂfm )
Write any two chemical properties of non metals c _br’.Jk{nu' JIJ Mgl o
Write names of any four noble metals #arbﬁ:*v):y(ﬂjf b
Write chemical reaction of sodium hydroxide with any one halogens ﬁ(ﬁ{lw#lhﬁ,%&uﬁfr Wil | 2
What is meant by electropositivity of metals ? s ﬁ.ﬁ/k(e-&ilts/‘gltf# A
( (PARTI )pjd dian ) ]
NOTE : Attempt any Two questions from this part 9x2=18 2‘,.5{/’@&15!&:] UM;:.JL_JAJ‘I Oy

Write down Rutherford's gold foil experiment and the observations made by him

5 é;ﬁ.—.qwl.um, i ﬂ'sJu&Lrébl«u (A) - SAJLV

Define vapour pressure and discuss the factors affecting it 4 a{a{:ﬂé_uuzw}wm‘ ..&/Uﬁ.w, (B)

Write four properties of mixture 4 ?,Q ﬁyr'/kd;{r (B)
Define hydrogen bonding and explain it with example 5 iaﬁb:(fdid’bvﬁdfmié LX) ) -6 AJ1

Describe mass/mass percentage of a solute present in solution 4 g.wl}u! é?dtlutﬁ&:’nf-vf}’ (B)

5 J#0=-2usH=+ ]} .ﬁm&ﬂ,ﬂmmgﬂg‘.ﬁwm; H,S04| (A) -7 A

Calculate the oxidation number of sulphur in H;SO4 when ON of H = +1and O = -
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Example of weak electrolyte is &

CH3;COOH (D) HSOs @ NaOH (B NaCl (A)

Oxidation number of Hydrogen in metal hydrides is ?/Uy‘alrr T6 ’Quﬁ)ﬁib#h}e
+2 (D) -2 () +1 -1 (A)

Which one of the following non-metal is lustrous ? 1y q_@(;é ?l»dtut&f
lodine eﬂ{r . Sulphur }1‘ (C) Graphite ..uflg/ (B) Phosphorous 96 (A).

6.02 x 1023 atoms of carbon are equivalent to e lorf¥ A1 6.02 x 108 Lkl
0.5 mole of carbon atoms Lf-’lwrdr 0.5 (B) 1.0 mole of carbon atoms Ly‘:’- t’df 1.0 ’
0.1 mole of carbon atomsﬁy':lwb’df 0.1 (D) 0.2 mole of carbon atoms Lﬁl IU:‘/O.Z (C)

How many electrons can k-shell accommodate ? ¢ u!élr ;glé'fu!(f -k
32 (D) 18 (C)
The number of elements in third period is q.JL«;"J

32 (D) 18 (C)
ALk aL sk,

‘Second and third period of the long form of periodic table are called

Normal periods JMJ;C {C) Long periods JLGJU @ Short periods JM-.*—A’ (A)
Very long periods|Jta-£iss (D)

WU Nacl

Which type of bond is present in NaCl ? T 4-tlll

By losing one electron Na atom attains the electronic configuration of

Xe (D) Ar(C) Ne He (A)

Absolute temperature scale was introduced by ) JU:JJI#LJ( }Zle
Charles LUy (D) Kelvin Lot @ Rutherford Lydw (B) Bohr Lzd (A)

Molarity is the number of moles of solute dissolved in b SR £.b£ré;‘.r

Which one is an example of solution ?
Nitrogen ¢t . Air I# (C) Carbondioxide ;;mduuw (B) Oxygen .,F(T (A)
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Q.No.2 Write shortanswers to any Five of the following 5x2=10 q{(j.-,gm B0 ‘k—pﬁdi@ﬂ ZAJ"’
Define substa;\ce and mixture é—!ﬂ[s‘"’—
Differentiate between ionic and covalent com pound with one example each é 5 l:c—JM--QJ)ﬂiVMJ'JfT v
Derived moecular formula from imprical formula with one example éyw.-.dw t q-bbﬂﬁqfﬂﬂﬂzﬂc—ﬂﬁkﬂﬁ Hr
Ll Lot lofiia Lasdi) v
Write electronic configuration of an element into their subshells having 14 electrons
Write electronic configuration of sodium and carbon in subshell | zau.’:gf..,/ '»-ﬁ(uﬁ/‘glgfchb’a!f-'jr [
Write any two features of long form of periodic table éuy.:-y#‘n&l{ﬁwfpﬁlﬂ Al
What is electronegativity ? Why is it generally decrease down in groups ? ¢ c,‘.J.nu.{ ﬂ)ﬁdn&,a’(hg § q—kréiaf‘g' &
Why the size of an atom does not decrease regularly in a period ? T t‘mﬂ’u[ (&-&I‘JM’N&#-{' A
Q.No.3 Write short answers to any Five of the following 5x2=10 é(/{-;&lz 121 é&c—kﬂd}b)) 3 /:Ub’
Why does a covalent bond become polar ? f q-l'&uﬂ#wa !
Define Hydrogen bonding i—l’ﬂbﬁhf'ﬂ#k 4
Differentiate between lone pair and bond pair of electrons 2. {}Mﬂ}g | eyt fod | ¥
State Charles's Law iuw)wru%y r
Why is the evaporation a continucus process 7 f q—w:&}"’ Jh VoFuptl| 0
Define solution and aqueous solution -.-l’iJu’J’ J,E wigh|
What is meant by unsaturated solution ? F gl k(bd’lt’ﬁu-ﬁﬁ' <
Define molarity and give its formula £{Murw;u£4ﬂ JA" A
Q.No.4 Write short answers to any Five of the following 5x2=10 é{ﬂ&&/‘%ﬁolzl ‘&c.—ufutllw 4 /ﬁ)’r‘
What is oxidation number ? Give an example @JM ¢ 4-![}0""5((7 !
What is the principle of electroplating ? zguhdf!‘.ﬁbfg 1
Define Corrasion N A yMun/ | r
What is Tin Coating ? $ .;_.,w’;_..éf.,.f r

Write the names of any four moderatory reactive metals 2.‘4 A VL#"{ 'W{N“‘Jk o
Write down trends of electropositivity in a period gdk“&ﬁﬂ?lmﬁ%’f‘g I
‘Why alkali mietals are more reactive than alkaline earth metals 7 b ugﬁm‘f idm&k—ﬂiﬁg-}%w(# Lﬂ' &
Write any two physical properties of non-metals é:/{:vkr‘éﬁ’d’# CHE

C
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NOTE : Attempt any Two questions from this part 9x2=18
Explain Rutherford's atomic model with two postulates 5 Z s lus Jiti | (A) - 5y
Write any four properties of mixture 4 Lol ";Jk(.f th’;{r (B}
5 ool itn ¢ et Wi |(A) <60
What is meant by co-ordinate covalent bond ? Explain it with two examples
4 HeobnfUierf _Z Bl #uw;mfu (8)
State Boyle's law , derive its equation and explain its experimental verification
Describe the process of rusting of iron ? 5 éy}kg}' I’iJJ/qJ (A) ..7/&)!:‘
4t erpd A S A M I | (B)
Define saturated and supersaturated solution ? Also describe how supersaturated solution is pr ppared
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